Holiday Homework
Std. 10
2025-26
(The Holiday Homework is to be done in your classwork notebook.)

English Language

1. Do question 5 (Do as Directed) of Papers 10 to 14 from your Text Book - Pearls of
English Language.

2. Copy down the following Proverbs in your notebook and learn them. Learn their
meanings too.

List of Proverbs

Actions speak louder than words.
An apple a day keeps the doctor away.
A bad workman blames his tools.
Do not put all your eggs in one basket.
Blood is thicker than water.
Let bygones be bygones.
If the cap fits, wear it.
Character is destiny.
Do not count your chickens before they are hatched.
. Too many cooks spoil the broth.
. Failure teaches success.
. Fortune favours the brave.
. A friend in need is a friend indeed.
. When God shuts one door, He opens another.
. Make hay while the sun shines.
. Two heads are better than one.
. History repeats itself.
. Hunger is the best sauce.
. A jack of all trades and master of none.
. He knows most who speaks least.
. Knowledge is power.
. Better late than never.
. Look before you leap.
. Out of sight, out of mind.
. Absence makes the heart grow fonder.
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English Literature

ICSE 2008
Read the extract from ‘Julius Caesar’ Act 3, Scene 1, given below and answer the questions
that follow:

Caesar: Are we all ready? What is now amiss,
That Caesar and his senate must redress?
Metellus: Most high, most mighty, and most puissant Caesar,
Metellus Cimber throws before thy seat
An humble heart.
[kneeling]



6)] Where are the speakers? What does 'puissant' mean?
Explain: 'Metellus Cimber throws before thy seat an humble heart". [3]
(ii) At the start of the scene what reply does the soothsayer give when Caesar says,
"The Ides of March are come? What was Caesar's attitude then? Give a reason for your
answer. [3]
(iii)) ~ What specific duties have been allotted by the conspirators to Trebonius and Casca?
Why does Cassius become nervous when Popilius Lena speaks to him as they enter? [3]
@iv) Who else had a petition for Caesar? How did Caesar respond to his pleas that his was a suit
that 'touches Caesar nearer? What characteristic of Caesar is seen in his reply? [3]
) Shortly after this Caesar is stabbed to death by the conspirators. At this point in the play
what are your feelings for (a) Caesar and (b) the conspirators.
Give one reason each to support your answer. [4]

ICSE 1990
Read the extract given below and answer the questions that follow:-

Antony: Hie hence and tell him so. Yet, stay awhile,
Thou shall not back till I have borne this corpse
Into the market place; there shall I try,
In my oration, how the people take
The cruel issue of these bloody men;

(1) To whom was Antony speaking? Where were they? How had the person being
spoken to
come to be there?

(i) ~ What did Antony mean by “Hie hence and tell him so"?

(iii))  What is a “corpse”? Whose was it? How is this brought out in line 5 of this
extract?

(iv)  What is meant by the word “oration?”” How did Antony come to make this
oration?

(v) What did he mean by “how the people take”? What instruction did Antony now
give this person?

ICSE 2025
Read the extract from ‘Julius Caesar’ Act 3, Scene 2, given below and answer the questions
that follow:

Antony: Friends, Romans, countrymen, lend me your ears;
I come to bury Caesar, not to praise him.
The evil that men do lives after them,
The good is oft interred with their bones;
So let it be with Caesar. The noble Brutus
Hath told you Caesar was ambitious;

If it were so, it was a grievous fault,

And grievously hath Caesar answer ’d it.
Here, under leave of Brutus and the rest —
For Brutus is an honourable man;

So are they all, all honourable men —
Come I to speak in Caesar ’s funeral.

(1) What does Antony say he is there for? What does he say he is not there for?
What do you think he is actually there for? [3]
(i1) What were the three conditions that Brutus had laid down before allowing Antony to
speak to the citizens of Rome? [3]



(ii1)  List the three arguments that Antony uses immediately after he speaks these lines to

prove conclusively that Julius Caesar was not ambitious. [3]
(iv)  Antony repeatedly uses certain words in his speech to describe Brutus. What are
they? Why does he do this? [3]

(v) Which one argument of Antony’s do you think had the greatest impact on his
listeners? Give a reason to support your answer.
What were the citizens’ feelings towards Antony before he began his speech?
How do their feelings towards him change at the end of his speech? [4]
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Physics Holiday Homework

STANDARD X PHYSICS HOLI DAY HOME WORK 2025-26
Q1. What is meant by moment of force? Give its S.I unit

Q2.A large force is acting on a body in such a way that its line of action passes through the point
about which the body rotate. What can we say about the magnitude of moment of force?

Q3.Can the moment of force be zero even when the force is not zero? If so when?

Q4.Suppose the resulting torque on a body is(1) zero and (2) not zero. What is the effect of the
torques acting on the body in the two cases?

Q5.Why a man bends forward while ascending and backwards while descending a hill?
Q6.Why do old men generally use a walking stick/

Q7.Give two examples from daily life where a small force is able to produce a large turning
effect.

Q8.Give reasons for the following:
(1) the heavy luggage is always put in the lower part of a ship

(2) a truck, carrying iron bars, is more stable than another truck, carrying an equal weight of
wooden logs.

Q9.A force of 6N is acting on a body and a force of 4N on the other. In which case will the
rotatory action be greater if the arm of the first force is 1m while that of second is 2m?

Q10.A uniform meter scale is put on a wedge at the 40 cm mark. It is found that the scale gets
balanced when a weight of 10 gf is suspended from the 25 cm mark. Find the weight of the
meter scale.

Q11.What is mechanical energy? Define K.E and P.E
Q12.What happens to the K.E when (1)the mass of the body is doubled at constant velocity (2)
The velocity of the body is doubled at constant mass?
Q13.Can two agents, doing the same work, have different power?
Q14.Which form of is converted into another form of energy by
(1)burning candle stick
(2)dynamo
(3)electric motor

(4)thermocouple



(S)microphone
(6)loudspeaker
Q15. Derive the expression for K.E
Q16.Establish the relationship between momentum and K.E
Q17.State work energy theorem
Q18.Show that the mechanical energy of a freely falling bod at any instant is conserved.
Q19.Explane the conservation of energy for an oscillating pendulum
Q20.Do all the numericals of chapter Work energy and power.

Inn Addition, Answer all the questions from the ICSE board examination from 2023 to 2025
from the relevant chapters which we studied.



Chemistry Holiday Homework
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Biology Holiday Homework

Practical Notes

1

HUMAN BIOLOGY ( Write this at the center of a fresh page.)
Prepared by Department of Biology, Don Bosco Academy. Patna (not to copy)
Experiment 12 ( Each Experiment has to be started on a new page)
Study of blood sample

Constituent of blood

Plasma , formed cells

Plasma
Colour
Composition

55 % - 60 % of total blood volume

Straw coloured

90 — 92 % water, 8% blood protein, 1 % of inorganic
salts

Ervthrocytes

Shape Bi concave and disc like

Life span 120 days

Size 3 microns m diameter

Function It contains respuatory pigment called hemoglobin
which transports the respiratory gases

Shape Amoeboid and rregular

Size 8§ — 10 microns

Types Neutrophil, Eosinophil. Basophil, Lymphocytes,
Monocytes

Function phagocytosis . They produce antibodies to neutralize

the effect of antigen.

Life Span 14 days

Thrombocytes

Shape Oval or polygonal

Size S microns

Function It nitiate the process of clotting
Life Span 3 -5 days

Diagram:- All diagrams are to be drawn and labeled with pencil on the plain side of the opposite side

where you have written the above notes)

Experiment 12

Study of Human Heart

Location
Shape

Size
Pericardium

Blood Vessels arising from heart
Aorta

Pulmonary artery

The heart is located m the thoracic cavity between
two hings.

It 1s more or less triangular in shape

It is as big as one’s fist

The heart is covered by double layered pericardium
enclosing pericardial fluid

It arises from left ventricle and carries oxygenated
blood to different body organs
It anises from the nght ventricle and carries




(55}

Coronary Artery

Vena Cava

Pulmonary Vein

Chambers of Heart

Valves

Chordae Tendinae

Papillary Muscle

deoxygenated blood to lungs

It originates from the aorta and supplies oxygenated
blood to the muscles of heart

Superior and inferior vena cava brings deoxygenated
blood from various parts of the body to the right
auricle

Tt brings oxygenated blood from hings to the left
auricle

The human heart consists of four chambers. Auricles
are the upper chambers and ventricles are the lower
Chambers

Tricuspid valves are located in the right ventricle at
the aperture of right auricle to the night ventricle .
Bicuspid valves are located m the left ventricle at the
aperture between the left auricle to the left ventricle.
Semilunar valves are located at the origin of
pulmonary artery in the right ventricle and aorta in
the left ventricle

They are tendinous chords which holds the flaps of
cuspid valves.

They are muscular projections of the ventricular
walls to which chordate tendineae are attached.

Diagrams ( Both diagrams can be drawn on the same page or two different pages in case the notes

exceeds to the next page)

External View

Aortic Arc
Vena cava

PR Rl
Right Auricle
Left Auricle

Coronary Artery
Left Ventricle
Right Ventricle

Aortic Arc

Left Auricle

Left Ventricle

Dorsal Aorta
Inferior Venacava

Superior Vena Cava
Pulmonary Artery

Pulmonary Vein

Pulmonary Semi Lunar Valve
BiCuspid Valve

Aortic Semilunar Valve

Tricuspid Valve

Right Ventricle




Experiment No. 13
Study of Human excretory system

Kidney

Ureter
Urinary Bladder

Urethra

They are bean shaped reddish brown organs located
on either sides of the lumbar vertebrae protected by
last two ribs.

It is a nuscular tube arising from the median surface
of each kidney and joins with urinary bladder.

It is a large distensible sac located i the pelvic
region

It is a short muscular tube leading outside from the
uriary bladder

Internal Structure of Human Kidney

Capsule
Renal Cortex

Renal Medulla

Pelvis

It 1s the outer protective covering of the kidney
It is the outer region of the kidney formed of
malphigian body, proximal and distal convoluted
tubule. It is dark red and has dotted appearance.

It 1s the mner region of the kidney consisting of
Henle's loop and collecting ducts. It 1s light red
It is the anterior expanded part of the ureter.

Diagrams. (( Both diagrams can be drawn on the same page or two different pages in case the notes
exceeds to the next page)

Cortex

Renal capsule

Human Urinary System

Inferior vena cava

Right kidney

Renal vein

Urinary bladder

Urethra

Medulla

LS of human kidney

Aorta
Adrenal gland
Left kidney

Renal artery

Iliac artery

Renal antery

Renal vein

Renal pelvis
Ureter




Experiment No. 14

Alm To study a Human Neuron
Structure Function

Nissl’s Granule

Dendron
Axon
Neurolemma

Myelin sheath

Node of Ranvier

These are RNA protein complex which synthesis the
protem to form enzyme required for the Synthesis of
Neurotransmitter

They receive impulses from other neurons or
receptors and pass them to cyton of next neuron.

It transmits impulse to next neuron or the effector
organ

Tt provide protection and insulate the axon to prevent
the leakage of nerve mmpulses.

It provide insulation to axon and prevent the leakage
and mixing of the nerve impulses. It also increases
the speed of nerve impulse transmission.

They are associated with the conduction of nerve
impulses and exchange of food and oxygen between
nerve tissue and its surrounding.

Diagram

dendrites

g
5
2

node of Ranvier

medullary sheath

Experiment No.15

Aim

To study the structure and Function of Brain.

Structure

Function

1. Forebrain

Cerebrum

Corpus callosum

Thalamus

Hypothalamus

It is the seat of the consciousness, intelligence,
memory, reasoning etc. It receives the
impulse from different parts of the body and initiate
all the voluntary activities. It is also a centre for
hearing.
It connects the two cerebral hemispheres from base.
It also transfer impulse fiom one

hemisphere to other
It acts as the relay station for mncomung sensory
impulse and out gomg motor impulse to and from
cerebrum
It is the regulatory centre fo thirst, hunger, and body
temperature. It also controls the functioning of
pituitary gland.

2. Mid Brain

It lies sandwich between the fore brain and the hind
bram.

3. Hind brain

Cerebellum

Pons Verolli

It regulates and co ordmates the group movement of
muscle and thus maintains balance of body and
posture.

It transmit nerve impulses across the nerve fiber that




=

Medulla Oblongata

comnects the two lobes of cerebellum and ensure co-
ordination of muscle movement on both the sides of
the body.

It is a nerve centre situated within the medulla
controls the activities of internal organs such as
working of heart, breathing and other mvoluntary
actions.

Diagrams ( Both diagrams can be drawn on the same page or two different pages in case the

notes exceeds to the next page)

Forebrain
(cerebrum)

External View

Cerebrum

Cerebellum

Pons
Medulla Oblongata

Median Section

Midbrain
Pons Ly Hindbrain
Medulla (cerebellum)
oblongata
Blangs: Spinal cord
Experiment No.16
Aim To study human eye.
Structure Function M— S
Sclera It is the outer tough, white, opaque, non elastic layer
of the eye ball It continues in front as cornea. It
provides shape to the eye ball.
Choroid It is the middle , pigmented, vascular layer of the eye
ball It prevent light rays from reflecting and
Scattering inside the eye.
Retina It is the mner most photosensitive layer of the eye
ball containing rods and cone cells.
Yellow spot It 1s the area of brightest vision and also for colour
vision. It lies at the center of the retina
Blmnd spot. It 1s an area of no vision as there is no rod and cone
cells located.. Here the optic nerve arises, which take
the nerve impulse to brain.
Lens It is a crystalline , transparent, biconvex body held in
position by the suspensory ligament.
Cormea It is the part of the sclerotic layer that bulges out and

become transparent m the front region where It
covers the coloured part of the eye. It allows the light




rays to pass through.

Ciliary body It lies at the junction of the choroids and wis. It
contains smooth muscles which alter the shape of the
Lens.

Diagram

/'4:‘»—\ suspensory

ry o/ 4%
cornea 7
~ '/’

pupil
aqueous W §
humour \

iris
blind spot
\ choroid coat
vitreous
humour
Experiment No. 17

Aim To study structure of human ear.

Structure Function

Pinna Tt is a skin covered flap of elastic cartilage. Muscles
also present on it from either sides of the head. Tt
collects sound waves and direct them m to the
auditory canal.

Auditory canal It 1s **S™ shaped tube leading inward from the pinna
of the external ear. Sound waves travel from pinna.
To the tympanum through the auditory canal.

Ear drum: Thm, oval tightly stretched membrane closing the
external ear internally. It converts sound waves into
mechanical vibration.

Eustachian Tube A passage that connects the cavity of the middle ear

Ear osscicles

Inner Ear

Utriculus and Sacculhis

Cochlea

Organ of Corti

Vestibule

Semicircular canal

with the throat or naso pharynx. It equalizes air
pressure on ither side of the tympanum.

A chain of three small articulated bone that crosses
the tympanic cavity of the mddle ear.It magmfies
and transmit the sound vibrations in to the mner ear.

It 15 also refered as membranous labyrmth
surrounded by bony labyrynth filled with perilymph.
It has Cochlea, vestibule and semicircular canal.

Found on the vestibule and are concerned with static
balance of the body

Spirally coiled tube of about two and half tum
resembling snails shell. The cochlear canal contain
organ of corti.

Found on the basilar membrane of the median canal
of cochlea and are concerned with hearing.

It is the central canal sac like part of the inner ear
consisting of two chambers utricles and sacculus.

A set of three semicircular canal m each ear which
are arranged at right angles to each other in three
different places. It helps in maintaining dynamic
balance of the body.
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Nerve
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Experiment 18

o Human Endocrine Glands

Alm Study of human endocrine glands.

Endocrine System It consisits of ductless endocrine glands which
secrete hormones into the blood stream.

Pituitary Gland It is a small pea sized gland attached to the
hypothalamus of the bram. It 1s also called master
gland because it secretes fropic hormones which
controls the secretions of other endocrine glands in
the body

Adrenal Gland A pair of adrenal glands are located above the kidney
fitted like a cap. Each adrenal gland consists of two
regions - Adrenal cortex and adrenal medulla. The
adrenal cortex secretes cortisone which helps m
fighting stress. Adrenal Medulla secrete Adrenaline
which is an emergency hormone.

Pancreas It is a heterocrine gland located just below the
stomach, It consists of endocrime tissue called Islets
of Langerhans formed of Alpha Cells and Beta cells.
Alpha cells secrete glhicagon and Beta cells secrete
msulim

Thyroid Gland It is a bilobed gland present in front of the neck
below the larynx. It secretes thyroxine which
regulates the basal metabolism of the body.

Diagram

Pituitary
gland
.Thyroid gland
Adrenal
gland
Kidney
Pancreas

Thank You

Wish You All The Best

By

Department of Biology, Don Bosco

Academy, Patna.




To be don in the Biology Notebook
Absorption by Roots

Quosiion -

(4 The tigure pnven below s a dinerammatic representation of a part of the cross [5}

cection of the root i the root hair zone. Study the same and then answer the
questions that tollow:

2 g
(i) Name the parts indicated by the guidelines | to 4.

(iiy Which is the process that enables the passage of water from the soil into the
root hair?

(iii)Name the pressure that is responsible for the movement of water in the
direction indicated by the arrows. Define it.

(iv) Due to an excess ol this pressure sometimes drops of water are found along

the leaf margins of some plants especially in the carly mornings. What is
the phenomenon called?

(v) Draw a well labelled diagram of the root hair cell as it would appear if an

excess of fertiliser is added 1o the soil close to it

1<



Juestion 3
o A candidate in order 10 study the process of osmosis has taken 3 potato cubes

and put them in 3 different beakers containing 3 different solutions. After 24

nours. in the first beaker the potato cube increased in size, in the second beaker

TI4523 T

d beaker there was ngo Chang,. \
n

‘ : > thir
be decrcased in si12¢€ and in the

the potato cu hows th
‘ : : sho
Ihe following diagram SROWS The result of the g, |

the size ot the potato cube

capenment

........

SIZEF INCREASED SIZE DECREASED SIZE REMAINS SAME |

(1) Give the technical terms of the solutions used in beakers, 1. 2 and 3.
(11) In beaker 3 the size of the potato cube remains the same. Explain the
reason in brief.

(111)  Write the specific feature of the cell sap of root hairs which helps in
absorption of water.

(1v) What is osmosis?

(V) How does a cell wall and a cell membrane difter in their permeability?



Question 6

(a) Given below are

havinge beer

(1)

(1)

(1ii)

(iv)

(v)

. l \(\llq '1q q"‘ l‘ UI.dLI lllt ']]4\«. 0.)\,”[‘);. D
o/ r ‘\ “I "lal' "Ilt]
.h 1" |Jn .

Terent solutions

Plasma
(el Wall  pMembrane
\

|

o dit
) pl.u'c‘d 1 It

What is the technical term for the cond

1.Cell A 2. Cell ¥2

From the solutions givea in brackeiz. (waier, ot ng os2yar so
190 salt solution) name the sotaiion inic wii'el:

i. Ceil A

2. Cell B was placed befoe beiny viewed under the

MICToscope. s
Under what conditions in the soi!
1. Cell A 2.Cell B?

Name the pressure responsible fo;

will the root hair celf resembie:

the iwovemenr of watet from the

root hair cell to the xylem of the ron: 110w, o -
) oi. How s it s ,

§ set up”

Name the pressure that helps in the =10

' HETEIem of waie - e the
xylem of the root. )

enlain the following terme-



